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MA 213 Alternate Exam 1 Fall 2018

(d) (7 points) Find a vector function that represents the intersection of the paraboloid

z = 4x? + y? and the parabolic cylinder y = x%. Hint: First parameterize x and

to move along the parabola y = x*.

el  xd) =%

Thew ) = xE)= T
G S AN Pam\”&d&)

T (Ym\o&\c C%_\(wﬂer)
God  ECE) =
L 48t ()

:49ﬂfﬁ

by ¥ AP E D
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MA 213 Alternate Exam 1 Fall 2018
>\6 (Motion in Space - 18 points)

A projectile is fired with initial speed of 200 m/s and angle of elevation 60°. Recall

that the acceleration due to gravity is 9.8 m/sec A
lg N A
! v

t=0

A
' k
(a) (3 points) Find the initial velocity vector vg.

\1 = 200 cos60o® & aoosuuﬁo@ﬁ

- woa + \wr‘b&

(b) (3 points) Find the equation for r(), the position of the projectile as a function
of time. g, A
P ()= ~4¥x N .3
'r'vc_’,_\ = -9q.% t. K -+ ) A
- toegi 4 (10005 -8t K

(¢) (3 points) Find the time of impact

A
: , '\?(f) r(o) 4 Vot 4
oot -4.9t" =© 4 (100 & — A\ﬁ{-,)k
£ (10073 ~ ‘\-‘\{33 =0 (
t = tood‘z,/,t -

£ =35-39
(d) (3 points) Find the maximum helght reached.
Use % =35 5‘\/1, v (3G

7 (L6

n

ofd (17.2) ~ 44C 1T m)
[5%0.6] w

(e) (3 points) Find an expression for ¥ (), the velocity of the projectile

N‘(}) = ',OO:

+ (100l ~q5t) &

(f) (3 points) Find the speed of the projectile at impact

"
F(3544) = 1004.+ (1006 E 45t

A
) ’LO’DR‘ 4 "'\1316 3
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